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Table 1
(N=65) (N=52) (N=67)
40.8 41.1 39.1
() 60 71 70
11.4 11.3 11.2
39 48 46
Body Mass Index 25.0 25.2 25.0
Weight(kg)/[hight(m)]?
3 54 54 58
1858 1947 1852
1 5 10 13 22
18 23 25
4.7 5.1 4.5
(score 0 — 10) 5.9 6.1 5.7
21 10 9
1.4 1.1 1.4
(score 0 — 10) 4.9 5.3 4.8
73 74 72
(cm) 5.1 4.9 5.1
Oswestry back-disability index 34.6 33.8 32.0
Health-related quality of life index 0.86 0.86 0.85
12
30 16 27 15
7 14 13 11
0.82 0.64 0.55
0 2 0
30 2
3
Compliance( )
3 2
22 1
3 1 61

93%, 91%, 93%



double blind

study

36 10 3

(base-line measurement; Table 1)

Oswestry index
5 4
1 41 36
20 2 19%, 11%, 2%, 3
5%, 6%, 2% Fisher’s exact test _
1 2 p=0.01, p=0.02




Fisher’s exact test

19 (a) 2 (b) 21 (a+b)
43 (c) 59 (d) 102 (c + d)
62 (a+c) 61 (b +d) 123(@a+b+c+d=
n)

Pr (a, b, c, d) = {(a + b)!(c + d)! (a + c)!(b + d)!)/ nlalb!c!d!
Pr (19,2,43,59) = { 21! 113! 62! 61!}/ 123! 19! 2! 43! 59! < 0.002
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Table 2

(N=4
2) (N=61 —
(N=6 )
2)
75 57 4.1 3.2 1.8
(2.3-5.0) (0.1-3.5)
(score 0 — 10) 15 20 14 0.3 4.3
(-3.1-3.8) (0.8-7.8)
24 3.1 1.9 0.3 0.9
(-0.4-0.9) (-0.01-1.7)
13 10 8 -1.5 -2.0
(-29.6-26.6) (-33.2-29.1)
(score 0 — 10) 6.8 7.2 7.9 -0.9 -0.3
(-1.8-0.02) (-1.2-0.5)
86 86 87 0.3 -0.03
(-4.2-4.7) (-5.1-5.0)
(cm) 6.2 6.0 6.4 -0.3 -0.3
(-0.7-0.2) (-0.7-0.1)
Oswestry back-disability 16.0 18.6 10.0 3.9 6.6
index (-0.2-8.0) (2.0-11.1)
Health-related quality of 0.92 091 0.94 -0.02 -0.02
life index (-0.04-0.002)  (-0.04-0.001)
7.0 7.7 7.6 -0.7 0.5
(-1.8-0.4) (-0.6-1.6)
Compliance
1 22 5 2
H
8 61 3
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Table
(N=4
) (N=6 —
(N= )
)
9.2 7.2 4.7 3.4 25
(0.2-6.5) (0.2-4.9)
(score 0 — 2.1 1.8 1.3 0.7 0.2
10) (0.03-1.4) (-0.5-1.0)
14 10 11 4.1 -0.01
(-13.4-21.6) (-28.2-26.2)
(score 0 — 10) 7.7 7.8 8.5 -0.8 -0.7
(-1.5—0.1 (-5.8-4.4)
88 89 90 0.4 -0.7
(-4.8-5.5) (-5.8-4.4)
(cm) 6.3 6.0 6.6 -0.6 -0.6
(-1.1—0.1) (-1.1--0.2)
Oswestry 11.8 10.8 7.4 3.8 2.6
back-disability index (0.1-7.5) (-1.6 — 6.7))
Health-related quality 0.93 0.95 0.95 -0.02 -0.02
of life index (-0.04-0.002)  (-0.04-0.001)
7.3 8.1 7.7 -0.6 0.4
(-1.6-0.4) (-0.6-1.4)
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randomization

3. confounder
Randomization confounder
base line
characteristics randomization
confounder
SD
confounding
4. baseline
(chance)
Confounder stratification  statistical modeling
5.
Randomization
baseline
randomization
6.
2 Non-differential
misclassification null hypothesis 3
Differential misclassification
7. risk rate
cohort
cohort study risk  rate
cohort study 3 12
8. sick days

randomization
confounding
45 baseline
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